
�����������	
�	���
����

��������	
����

�����
���	����	����
�
�
�

����
������

������
�


����	
���

���
�����������
��	
�
���

�

�
����
��
���	������

���

������
	���� 

����� �������
������
����
�����

���	������� �!!�!�!∀��∀ 

���������� �

�

��
�

�

�

���
��	��� ��� #∃% �!&��∋��(!��∃

!
�	������� �����(�(�

����������� #���)��
������

�
�������	∀������ ������∗�+%�,#−�∀�����∗�+.��
�−�∋�∃/�/�∗

#�
�
���	∀������ 0��
����(�∗���

∃������	%���� ������
	�����

��
�� �	���	&���
�� � 1
��
���)�
2 �
���3
���
�����������3
�������3
4�����5
�	����
�������	���
�����

��5�
����
��
���)�
�

%)������2 ����5
��
6
�����5
�	�3���
���
4�����5
�	����
��������������5��������

������	
�
�

,�3	�2 ����

������������3��)���3	��

#�)����2 �����
��
��
�

����5���������
�����
���	�)���	����
��	
����
������

7
���������������� �8(

                                                l  ����������	
���
����	
�����
�
�	����������
�	
�����	�
�����	��������	��������
																					l  ��
���	
�����
�
																	l		���	����
���	
�
��
��					  

��������

�	
��
��������������������

����������� !�∀���������������#���∃�!

∀����������%��%!�&�∋�(������)

���∗∗����

�	
��
��������������������


∃�+�,�����−����∃+��#���∃�!��.�������/!

�0�
∃�+�,�����−�!���∋�∃�1.���%���!�&�∋�(������)

������2������%�0��%��

/�������2������%�0��%��

��,�34��)+�)�5

∋∋∋)4��)+�)�5



���������	���
�����


�
�
��������������

���������	�
�	����
��	
��	����������	���
	�
�	��������	���������	
��	��	
�����	���
	�����
����	�
���	
�
��
����	

��������	�
��������	����
��	
�	�
�	����	��	������
����	
��	
������	����
���	���
	�

�	�����	��	��������	���	

���
������	�
����
��	�����
����	���
�	������
�����	

������
�	���������	��	������
�	��������	
��	���������	

�����������	��	��������
��	����������	
��	�������	��	�
�	���������	

�	��
�����������������

���������	�
�	����
��	
��	����������	���
	�
�	��������	���������	
��	��	
�����	���
	�����
����	�
���	
�
��
����	

��������	�
��������	����
��	
�	�
�	����	��	������
����	

��	����
����	��	��
��	����������	����
���	���
	�

�	�����	

��	��������	���	���
������	�
����
��	�����
����	���
�	������
�����	

��������
����
���	������������� !∀����#�∃%

�����	���	 !∀�#∃∀%�	&∃∋()∗+,	−./∋0/	��1�����	���	 !∀�#∃∀%�	2
�	����
����	��	#�#	���	��	���
��	����
���	


�������	������	���	�
�	���
����
����	��	��������	��	∋�.��	3�	����
�	���	�#	�
����
�	�
�	����	4���������	�����	


����	#�!	56�

�
&�

7	�

���	���������
�	��
8	��	��������	4 ##�#	56�	3����	��	�
�	
������	��	���������	�
����
��	���	����
����	

�
����
����	�������	��	��	
������	�

�	
��	��
8�	

��	�
�	�
��	��������	���������	9
���	���������	�
�	����������	��	


�
�����	������	
	�

��
�����
�	��	�����
����	���
���	��	

��	����	
�
����	����	�
���

#������	��∋�	�����

������ &	:∃�∃#�	∋	∀�%!�	)	∗�∃:	5

&∃∋%)∗+,;#� ∋,+ ��1������ &	:∃�%∀�	∋	∀�:(�	)	∗�∃#	5�	∋,+	 � :	5

&∃∋%)∗+, ��1������ &	%#�!:�	∋	∀�: �	)	∗�∃∀	5

2
�	�������
�	
�
�����	�
��	����
���	�������	�
���	��������	���	
�
������	�
����
�<	�
�	��������	��	�
���	��	

��
���
���	��������	����	�
�	���
��	��	�������
����	
��=��	�
�	����	��	�
����
��	
��	�
�	>����?���≅	
���
���	

�������
�	������
	��	������	��	�
�	
������	��	
	Α
��?����
��	�
���	
�
������	��	���������	�

�	�
�	>����?���≅	�
���	

�������	��	����	�
��	�����������	���������	�������

2
�	
�
��
���	1�
�����	��	������?����
������	�
����
�	��	
��
��	��
���	
��	�
��	������	�
�	������	
��	����	��	
�
�����
�	�
�
	

�
��
	�
�	��	���
�����	2
��	&�������
��	��	���������	��	�����������	����
�	���	���	��	
�
�����
�	�
������	�
�	
��	��
����	��	�
�	

���	��	������?����
������	�
����
���	&�����	�
����
��	�����	����
��	
��
��	������	��	������
�	��������	
��=��	�
����	
��	��	

����	���	��	���	�
�	���������	������	�
���	������	�
�
��	�

�	�
�	�
�	∋Β�&	�������	2
��	��������	��	��������	���	���	
�	
�	


�
�����
�	���������	�
����
�	
��	��	��	���	���	
��
�	
��������
�����	����������	
��	�
���	���
	���
����	�������
�������	������	

��
������	����������

2
�	��?����	�
��	��	
�������	����	����������	�
����	���
	�
�	�
����
�	��	�
�	�
���
����	
��=��	��	����
���	��	��	���	��������	��	

�������	����
�	����
��	�������	���
���	��	�
�	��
��	
�����	��	�
����
�	
�
��
����

,=!



 
 
 
 
 
 

0.51.01.52.02.53.03.54.04.55.05.56.06.57.07.58.08.59.09.510.0  

  NMR 
 Solvent 

2xCH 
2.0H   2xCH 

  2.0H 

H2O 

 CH3 
 3.1H 

�

�

��
�

�

��������	
���
�������

�
�����������	��
����������	����� �	����	���	�!∀�#��∃
∃%∀

∀&�



 
 
 
 
 
 
 
 
 
 
 
 

252550507575100100125125150150175175200200  

 NMR 
Solvent 
 

CH3 

OCD3 

CH 

CH 

CH 

CH 

C 
C 

 C=O 

�

�

��
�

�

��������	
���
�������

��
�������������	��
����������	��� !��	����	���	�∀��#���
�∃�



���


